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19 | G1.5a: Possessive pronouns 1 G3.1: Sentences and clauses
20 | G6.1: Synonyms and antonyms 1 G3.1a: Relative clauses 1
21 | G1.9: Subject and object G3.4: Subordinating conjunctions and
22| G7.1: Standard English 1 subordinate clauses 1
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Set A: Grammar, Punctuation and Spelling Paper 1 — Answers

Qu. Requirement
Guidance

1 | my, ellen, i
Award 1 mark for all 3 correct.

2 | Put on your warmest gloves.

3 | shortly and happily
Award 1 mark for both correct.

Award 1 mark for all 3 correct.

| ate a sandwich and a banana fc
ana for lunch, but | didn’” j
. e but I didn’t enjoy them. Next time, I'll





image8.jpg
8

L may vy for example o
g What is your fall/UuII;I /,?kez E Award 1 mark for 5 grammatical| =
i does she lool correct sentence using a questiony (612 2
] peeled: hatched and made mark in the appropriate place. G
0
1 ; Award 1 mark for all 3 correct, [
1/1 \What an exciting story that was (G4.12)
]
P eat again (G2.4)
[ 1
| /3 (G6.2)
] 1 Award 1 mark for all 3 correct. 1
g (G52
G5.3
G5.4)
= =3
14 | When he got to school Kai realised that he had forgotten his PE kit. 1
(G5.6b)

15 | To make the cake, you will need:
o butter

o sugar

* plain flour

o €eggs

Award 1 mark for all 4 correct. If the t- 1
answer uses capitalisation, it should | (€319
do 50 at the start of each point. If
the answer uses punctuation, it
should use either commas or semi-
colons after the first three points and
a full stop after the fourth.

16 | The,an and a

Award 1 mark for all 3 correct. 1

we
| it

Award 1 mark for both correct. 1

“The swimming pool was very busy,” said Harry.

is eating a carrot.

h'

Award 1 mark for both parts of the
answer correctly identified.

Award 1 mark for both correct.

rd 1 mark for all 4 correct.

Awal
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get B Paper 2

Qu.

2a
2b

5a

5b

50 Bag A is heavier.

Requirement

'

4

Bag B weighs 1150 g,

s 53

50 + 250 = 300

450 ~ 200 = 250

0.09, 0.12, 0.91, 2.55, 8.03

Round 6489 to the
nearest...

100 6500

1000 6000

Seven hundred

| Bag A weighs 1.2 kg = 1200 g.

TR A T LALLDWE LD

Guidance
D

2 marks for all
three correct,
otherwise

1 mark for two
correct.

j—

)

Amount of money spent

= £3 - £0.50 = £2.50

Cost of drink

= £2.50 - £1.65 = 85p or £0.85

2 marks for the
correct answer,
otherwise

1 mark for a

|
|
[
|
correct method. |

60 is half of 120. The type of film
that takes up half the pie chart is
action.

2 marks for the
correct answer,
otherwise

1 mark for a
correct method.

Marks

| 5030 x 7910 = 100 x 2373

| Discount for a scarf is -, which
| is the same as 20%.

The discount for a hat is 25%,

| which is more than 20%.

| = £1200

leaves her with 40 — 4 = 36 kg.

Requirement

This shape
has exactly
two acute

This shape
only has
obtuse
angles.

One bottle holds
1500 + 3 = 500 ml
Two bottles hold

[ 2 x 500 = 1000 ml
| One carton holds

2250 - 1000 = 1250 ml

Marks

(Domain)

dance

2 marks for
both correct,
otherwise

1 mark for one
correct.

2 marks for the
correct answer,
otherwise

1 mark for a
correct method.

=237 300

5

So the hat is cheaper.

Money off a scarf = % x £20 = £4

A scarf now costs £20 — £4 = £16

Angles on a straight line
add to up to 180° so
a=180°-57°-13°=110°

| An explanation that shows there

are twice as many brown leaves

as green leaves, e.g.

o 3 x 44 =132 is double
6x11=066

® 132+66=2

| © There are four times as

many brown leaves on each
branch but half the number of
branches, and 4 +2 =2

350 =7 x50
Cost of birthday party
= £500 + (7 x £100)

Cost of wedding party
= £900 = £500 + £400
Extra cost above £500
= £400 = £100 x 4
This means there are
4 x 50 = 200 guests.

Josie gets 8 x 5 = 40 kg of apples
altogether.
She throws 4 kg away, which

2 marks for the
correct answer,
otherwise

1 mark for a

correct method.
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